Spare Parts ILD 7 ECO AP

Pos. Market Name Scan Item no.AP | Ext. supplier code
1 |BAFFLE PLATE WARM/ILD 7/8 50064277 1083169
2 |CASTIRON GRATE W/I 7/8/9/10/11 50054180 1075411
3 |DECO-RAIL CB-BURNER W/I 7/8 50054182 1079201
4 |DOOR COMPLETE ILD 7/8 ECO 50064279 5830127
5 |GLASS FOR W/I 7+8 (317X380) 50054185 0105433
6 |STEEL TOP COMPL. ILD 7+8 50054186 1078961
7 |KIT STEEL SIDES ILD 7 50054187 1079241
8 |[ASH DRAWER W/I 7/8 50054188 1079251
9 [WOOD COMPARTMENT DOOR W/I 7/8 50054327 5830107
10 |TOP LID 50064265 1078971
11 [KIT BURN PLATES W/I 7 COMPL. 50064273 5830125
12 [KIT GASKET W/I 8-15 50054189 5830105
13 [KIT BOTTOM STONES WARM/ILD 7/8 50054181 5830103
14 |CONNECTING PIECE @150 I/W 7-15 50064517 1078864
15 [CONNECTING PIECE @160 I/W 7-15 50054193 1078861
16 |SPRING BA1 I/W 7/8 50064514 1079182
17 |HANDLE COMPLETE W/I 7/88 50064269 5830129

\;

Accessory



goran.djordjevic
Stamp


i

\

F

14 1 1078933 M5x16

13 4 11071945 M10x16

12 1 1078864 SKLOP @150

11 1 |5830127 SKLOP montaZa
10 | 1 ]1079201 #1,5; €.4580

9 1 (1079021 SKLOP

8 1 ]1075411 GG20

7 1 (5830125

6 1 11078961 SKLOP

5 1 11079231 SKLOP

4 2 (1079241 SKLOP

3 1 11079141 #1,5; DCO1 pocink.
2 1 11078911 SKLOP

1 1 11079251 SKLOP
Pos. | QTY CODE Description




. ©
| ° 14 | 2 [0304875 M6x30
13 | 2 [1083281 @5x30
e e 12 | 6 |0307561 M6
| 11 | 3 |0307552 M5
@ 10 | 1 |1079261 6
| 9 | 1 |1078933 M5x16
8 1 |1079231 Sklop
7 1 |1079182 @1,5x76,5
6 4 (0309984 A8
5 2 |1079181 @11 x 11
4 2 [1079191 ?8/@6x19
3 1 |1079171 £3
2 1 11078681 Sklop
1 1 Montaza
Pos. | QTY CODE Description




7 2 1083165 +25;vermikulit
6 1 (0400685 +30;termobeton
5 1 (0400684 #30;termobeton
4 1 (1083169 #25;vermikulit
3 | 2 1079221 @8x38; €.4580
2 1 |1083163 +25;vermikulit
1 1 1083162 #25;vermikulit
Pos. | QTY CODE Description

KIT BURNPLATES W/I 7 COMPL. (5830125)




16 | 1 |1079998 ?12x1980

15 | 4 |0305195 ISO 7380-10.9
14 [ 1 |1079997 #3x20x1470;stakl.vlak.
13 | 3 |0307561 SRPS.M.B1.601
12 | 2 0305012 M4x8; DIN 914
11 [ 5 |1078437 ?10/@8x5,5;
10 [ 1 |0310332 SRPS.M.B2.011
9 | 2 0307552 SRPS.M.B1.601
8 1 0304734 SRPS.M.B1.120
7 1 1079271 SKLOP

6 1 11078946 SKLOP

5 | 2 1010982 |+6; €.4580

4 | 1 (1079157 SKLOP

3 1 |1078941 SKLOP

2 1 |1078951 SKLOP

1 1 10105433 #4; keramicko
Pos. | QTY CODE Description

DOOR COMPLETE ILD 7-8 ECO (5830127)




16 1 11017476 |#3x15x280;stakl.vl.
15 1 11017475 #3x15x900;stakl.vl.
14 1 11079081 +#4;S5235]R

13 1 (1079111 #4;S235]R

12 2 |0334056 |M6x25

11 4 (0307561 (M6

10 4 (0309981 |A6

9 1 (1011181 #4; S235JR

8 1 ]1079131 |SKLOP

7 1 11011301 |OK10; S235]JR

6 1 1079121 #4; S235JR

5 1 (1079101 #4; S235JR

4 2 |1078436 |@20x6; S235IR

3 1 (1079091 |OK10;S235]R

2 1 (1079071 #4; S235JR

1 1 [1079061 |SKLOP
Pos. | QTY CODE Description




